c)

2x—l : I
a) Bl ——
x+3 =4

{5. Factor: px+ py+gx+4qy

a) (x+p) (y+4q)
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8) y=—2X b) \:—)' dy y=—
‘? -a'r,r ﬁ._\(

19. The equation of a line containing the point (2. ~1)and parallel to the line y = 4x-1 s

@ b) 1==—l:-:—j— ¢) y=—4x+1 d)y y=4x—-6
: B 2

20, LCM(24,36) =

a) 60 o a1 d) 864

P

Questlonl 2 3 4 5\61?\8L9\

f“"‘“““ .

f Question| 11 12 13 14 15\ 16

Answer \ 1 \ W ‘\




M G

. T
a] {3-:4) i ’,[‘.'.J:r-._ is g

as 5 v

“I < h _ l-h"L'l']

a2 lies to the 1o
0 the left of 5 on the number line

d) T - :

1€ quotient XL ; .
=I5 5 s :

= defined when ymi

——

8. Simplify: a@® = g

ok
c) &

9. Which of the following is a function:

a)

10. A system of two equations in two variables is consistent and the equations are dependent then

this system has:

d nfinitely many solution b) One solution ¢) No solution d) Two solutions

11. Solve the inequality 4 <§ <6

a) )8.12] b) (2.3] ¢) [8.12) d) [2.3)

; : — ~ =h
12. Multiply and write scientific notation for the result (9.9x10 )(8.:23x10 )

- ; 3 L gl ATTxl0® 4y 8147710
a) 81.477x107 14.77><10 o) _




crx -

£ pairs of lines are parallel:

4. The interval notation for the set {x|x iaareal number} is

b) [0.) ¢) (-==.0] g (0.%)

2.3,4,5,6} and B={3.4.7.8}. then ANB= /'1
“ ‘"ﬂ\ g (1.8}
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2 (-1 -3 & 5Y = -3
4 -26 x5 = -3%

e) niEia=%y
e Vg
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2= 2(-6)-\3
9= AR LN
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